

Stirling Polynomials

IRA GESSEL* AND RICHARD P. STANLEY†

*Department of Mathematics, Massachusetts Institute of Technology,
Cambridge, Massachusetts 02139*

Communicated by the Managing Editors

Received August 2, 1976

An investigation is made of the polynomials $f_k(n) = S(n + k, n)$ and $g_k(n) = (-1)^k s(n, n - k)$, where S and s denote the Stirling numbers of the second and first kind, respectively. The main result gives a combinatorial interpretation of the coefficients of the polynomial $(1 - x)^{2k+1} \sum_{n=0}^{\infty} f_k(n)x^n$ analogous to the well-known combinatorial interpretation of the Eulerian numbers in terms of descents of permutations.

1. ELEMENTARY PROPERTIES

If k and n are positive integers, let $S(n, k)$ denote the number of partitions of an n -element set into k blocks. Also let $c(n, k)$ denote the number of permutations of an n -element set with k cycles. Thus $S(n, k) = c(n, k) = 0$ if $k > n$. $S(n, k)$ is a Stirling number of the second kind, and $c(n, k)$ is related to the Stirling numbers $s(n, k)$ of the first kind by $c(n, k) = (-1)^{n-k} s(n, k)$. The $c(n, k)$'s are sometimes called the "signless Stirling numbers of the first kind." For further information, see [9, pp. 32–34, 70–72; 3, Chap. V], or [6, Chap. IV]. Throughout this paper we will use the following notation:

- \mathbb{N} set of nonnegative integers,
- \mathbb{P} set of positive integers,
- \mathbb{Z} set of all integers,
- \mathbb{C} set of complex numbers,
- $[n]$ the set $\{1, 2, \dots, n\}$, where $n \in \mathbb{P}$.

We are interested in studying $S(n, k)$ and $c(n, k)$ as functions of the difference $n - k$. Hence if $k \in \mathbb{N}$ and $n \in \mathbb{P}$, we define $f_k(n) = S(n + k, n)$ and $g_k(n) = c(n, n - k)$. For instance, $f_0(n) = g_0(n) = 1$ and $f_1(n) = \binom{n+1}{2}$,

* Supported by an NSF Graduate Fellowship. Current address: IBM T. J. Watson Research Center, Yorktown Heights, N. Y. 10598.

† Supported in part by NSF Grant MPS 7308445-A03.

$g_1(n) = \binom{n}{2}$. The next two propositions are not new, but for the sake of completeness we have included proofs.

PROPOSITION 1.1 (see, e.g., [6, Sect. 52]). *Fix a nonnegative integer k . Then $f_k(n)$ and $g_k(n)$ are polynomial functions of the positive integer n . Both these polynomials have degree $2k$ and leading coefficient $(1 \cdot 3 \cdot 5 \cdots (2k - 1))/(2k)!$.*

Proof. It is well known that $S(n, k)$ satisfies the recursion $S(n + 1, k + 1) = S(n, k) + (k + 1)S(n, k + 1)$ for $n, k \in \mathbb{P}$. This is equivalent to

$$\Delta f_k(n) = (n + 1)f_{k-1}(n + 1), \quad \text{for all } n, k \in \mathbb{P}, \quad (1)$$

where Δ is the usual difference operator (defined by $\Delta h(n) = h(n + 1) - h(n)$).

We now prove by induction on k that $f_k(n)$ is a polynomial of degree $d_k = 2k$ and leading coefficient $\alpha_k = (1 \cdot 3 \cdot 5 \cdots (2k - 1))/(2k)!$. This statement is clearly true for $k = 0$, since $f_0(n) = 1$. Now assume it for k . Recall that a function $h: \mathbb{P} \rightarrow \mathbb{C}$ is a polynomial of degree d and leading coefficient α if and only if $\Delta h(n)$ is a polynomial of degree $d - 1$ and leading coefficient αd . Hence by (1) and the induction hypothesis, $f_{k+1}(n)$ is a polynomial of degree $d_k + 2 = 2(k + 1)$ and leading coefficient $\alpha_k/(2k + 2) = (1 \cdot 3 \cdot 5 \cdots (2k + 1))/(2k + 2)!$.

The proof for $g_k(n)$ is analogous, using the recursion $c(n + 1, k + 1) = c(n, k) + n \cdot c(n, k + 1)$ in the form $\Delta g_k(n) = n \cdot g_{k-1}(n)$. This completes the proof.

We call the polynomials $f_k(n)$ and $g_k(n)$ *Stirling polynomials*. (These are not to be confused with the related but not identical ‘‘Stirling polynomials’’ of [6, Sect. 77].) Although $f_k(n)$ and $g_k(n)$ were originally defined only for $n \in \mathbb{P}$, as polynomials they can now be evaluated at any complex number. In particular, in the spirit of [11] we can ask for a combinatorial interpretation of $f_k(n)$ and $g_k(n)$ at *negative* integers n . A brief history of this problem appears in [5]. It may be regarded as a reformulation of the well-known orthogonality between $S(n, k)$ and $s(n, k)$, although we will give a direct proof.

PROPOSITION 1.2. *We have*

$$f_k(0) = f_k(-1) = \cdots = f_k(-k) = 0, \quad \text{for all } k \in \mathbb{P}, \quad (2)$$

and

$$f_k(-n) = g_k(n), \quad \text{for all } n \in \mathbb{Z}, k \in \mathbb{P}. \quad (3)$$

Proof. There are several ways to prove this result, of which the following is perhaps the most straightforward. The polynomials $f_k(n)$ are uniquely determined by the conditions $f_0(n) = 1$, $f_k(1) = 1$ if $k \in \mathbb{P}$, and $\Delta f_k(n) = (n + 1)f_{k-1}(n + 1)$ if $k \in \mathbb{P}$. This latter identity we originally observed for $n \in \mathbb{P}$, but by Proposition 1.1 must be a polynomial identity and therefore valid for all $n \in \mathbb{Z}$ (or even $n \in \mathbb{C}$).

We prove (2) by induction on k . It is true for $k = 1$ since $f_1(n) = \binom{n+1}{2}$. Assuming its validity for $k - 1$ we have $\Delta f_k(0) = f_{k-1}(1) = 1$ and $\Delta f_k(-i) = (-i + 1)f_{k-1}(-i + 1) = 0$ if $i \in [k]$. These $k + 1$ equations, together with $f_k(1) = 1$, imply (2).

Define $h_k(n) = f_k(-n)$. Then $h_0(n) = 1$. Moreover, since $-f_k(-k - 1) = \Delta f_k(-k - 1) = -k \cdot f_{k-1}(-k)$ for $k \geq 1$ and since $f_0(-1) = 1$, we get $h_k(k + 1) = k!$. Finally, putting $-n - 1$ for n in (1), we get $\Delta h_k(n) = n \cdot h_{k-1}(n)$. But these conditions on $h_k(n)$ are precisely the conditions which uniquely determine $g_k(n)$. Hence $h_k(n) = g_k(n)$, and the proof is complete.

2. STIRLING PERMUTATIONS

Our main result on Stirling polynomials can best be motivated by recalling some properties of the Eulerian numbers $A_{k,i}$. They are defined by the equation

$$\sum_{n=0}^{\infty} n^k x^n = \left(\sum_{i=1}^k A_{k,i} x^i \right) / (1 - x)^{k+1}.$$

The Eulerian number $A_{k,i}$ has the following combinatorial interpretation: $A_{k,i}$ is the number of permutations $a_1 a_2 \cdots a_k$ of the set $[k]$ having exactly i descents (or falls); i.e., for exactly i values of $j \in [k]$ do we have $a_j > a_{j+1}$ or $j = k$. See, e.g., [8; 3, pp. 240–246; 12, Example 4.10; 7, Vol. 3, 5.1.3; 4].

Now Propositions 1.1 and 1.2 imply that for each $k \in \mathbb{P}$, there are integers $B_{k,i}$, $i \in [k]$, such that

$$\sum_{n=0}^{\infty} f_k(n) x^n = \left(\sum_{i=1}^k B_{k,i} x^i \right) / (1 - x)^{2k+1} \quad (4)$$

and

$$\sum_{n=0}^{\infty} g_k(n) x^n = \left(\sum_{i=k+1}^{2k} B_{2k-i+1,i} x^i \right) / (1 - x)^{2k+1}, \quad (5)$$

where $\sum_{i=1}^k B_{k,i} = 1 \cdot 3 \cdot 5 \cdots (2k - 1)$. The deduction of (4) and (5) from Propositions 1.1 and 1.2 follows from basic results in the theory of generating functions, see e.g., [12, Corollaries 4.5 and 4.6]. Thus we can ask, in analogy to the Eulerian numbers, whether there is a combinatorial interpretation of the numbers $B_{k,i}$. (It is not even evident a priori that they are nonnegative.) Ideally $B_{k,i}$ will count the number of permutations, from some class of $1 \cdot 3 \cdot 5 \cdots (2k - 1)$ permutations, with exactly i descents. This is precisely the content of the next theorem. We shall give three different proofs of this theorem, reflecting three different combinatorial features of Stirling polynomials.

First let us remark that the numbers $B_{k,i}$ have been previously investigated by Carlitz [1, 2] and Riordan [10, Sect. 4] using a different notation. Carlitz derives their formal properties and asks for a combinatorial interpretation. Riordan states such an interpretation, but not in terms of descents of permutations.

THEOREM 2.1. *Let Q_k be the set of all permutations $a_1 a_2 \cdots a_{2k}$ of the multiset $M_k = \{1, 1, 2, 2, \dots, k, k\}$ such that if $u < v < w$ and $a_u = a_w$, then $a_v > a_u$. (We call the elements of Q_k Stirling permutations.) Then $B_{k,i}$ is equal to the number of permutations $a_1 a_2 \cdots a_{2k} \in Q_k$ with exactly i descents, i.e., such that $a_j > a_{j+1}$ or $j = 2k$ for exactly i values of $j \in [2k]$.*

First proof. Let $C_{k,i}$ be the number of permutations in Q_k with exactly i descents. Thus $C_{1,1} = 1$, $C_{1,i} = 0$ if $i \neq 1$, $C_{k,0} = 0$. We claim that

$$C_{k,i} = i \cdot C_{k-1,i} + (2k - i) C_{k-1,i-1}, \quad \text{for all } k, i \geq 2. \tag{6}$$

Every permutation π in Q_k can be obtained uniquely by choosing a permutation σ in Q_{k-1} and inserting two consecutive k 's somewhere in σ (there are $2k - 1$ ways to insert the two k 's). In order that π have i descents, there are two possibilities: (a) σ has i descents and the two k 's are inserted between a descent or at the end, (b) σ has $i - 1$ descents and the two k 's are not inserted between a descent or at the end. In (a), there are $C_{k-1,i}$ choices for σ and i ways to insert the k 's. In (b), there are $C_{k-1,i-1}$ choices for σ and $2k - i$ ways to insert the k 's. This proves (6).

It is clear that $B_{k,i}$ satisfies the initial conditions $B_{1,1} = 1$, $B_{1,i} = 0$ if $i \neq 1$, $B_{k,0} = 0$. Hence the proof will be complete if we can show $B_{k,i}$ satisfies the same recursion (6) which holds for $C_{k,i}$. Let

$$F_k(x) = \sum_{n=0}^{\infty} f_k(n) x^n = \left(\sum_{i=1}^k B_{k,i} x^i \right) / (1 - x)^{2k+1}.$$

Then $(1 - x) F_k(x) = \sum_{n=0}^{\infty} [4f_k(n - 1)] x^n = \sum_{n=0}^{\infty} n \cdot f_{k-1}(n) x^n = x d/dx F_{k-1}(x)$. Thus

$$\frac{\sum_{i=1}^k B_{k,i} x^i}{(1 - x)^{2k}} = \frac{\sum_{i=1}^{k-1} i \cdot B_{k-1,i} x^i}{(1 - x)^{2k-1}} + \frac{(2k - 1) \sum_{i=1}^{k-1} B_{k-1,i} x^{i+1}}{(1 - x)^{2k}} \tag{7}$$

Multiplying (7) by $(1 - x)^{2k}$ and equating coefficients of x^i gives $B_{k,i} = i \cdot B_{k-1,i} - (i - 1) B_{k-1,i-1} + (2k - 1) B_{k-1,i-1} = i \cdot B_{k-1,i} + (2k - i) \times B_{k-1,i-1}$. This completes the proof.

Note that Theorem 2.1 implies that $|Q_k| = 1 \cdot 3 \cdot 5 \cdots (2k - 1)$, since we already observed that $\sum_{i=1}^k B_{k,i} = 1 \cdot 3 \cdot 5 \cdots (2k - 1)$. A direct combinatorial proof of this is implicit in the above proof, since we noted that there are $2k - 1$ ways of choosing $\pi \in Q_k$ from $\sigma \in Q_{k-1}$ by inserting two

consecutive k 's, and each π is obtained exactly once in this way. We leave to the reader the easy problem of giving a direct combinatorial proof that $B_{k,k} = k!$. Table I gives the values of $B_{k,i}$ for $1 \leq k \leq 8$.

TABLE I
The Numbers $B_{k,i}$

i	k							
	1	2	3	4	5	6	7	8
1	1	1	1	1	1	1	1	1
2		2	8	22	52	114	240	494
3			6	58	328	1452	5610	19950
4				24	444	4400	32120	195800
5					120	3708	58140	644020
6						720	33984	785304
7							5040	341136
8								40320

Second proof of Theorem 2.1. We now give a direct combinatorial proof that $C_{k,i} = B_{k,i}$, where $C_{k,i}$ is the number of permutations in Q_k with exactly i descents and $B_{k,i}$ is defined by (4). We show that

$$\sum_{n=0}^{\infty} f_k(n) x^n = \left(\sum_{i=1}^k C_{k,i} x^i \right) / (1-x)^{2k+1} \quad (8)$$

by constructing objects whose generating function is the right side of (8) and exhibiting a bijection between these objects and partitions of sets.

Let $\pi = a_1 a_2 \cdots a_{2k}$ be a permutation in Q_k for $k > 0$. We define the "spaces" of π to be the integers $0, 1, \dots, 2k$, and we think of space i as lying between a_i and a_{i+1} for $1 \leq i \leq k$, with space 0 before a_1 and space $2k$ after a_{2k} . We say that a space i is a *descent* of π if $a_i > a_{i+1}$ or if $i = 2k$.

Now for any permutation π , we define a *barred permutation* on π to be a sequence of integers and bars ($/$) formed from π by inserting bars in some of the spaces of π . For example, $/1/2//21$ is a barred permutation on 1221. We now define P_k to be the set of barred permutations on elements of Q_k with at least one bar in each descent. For example, $//123//3/2/144/$ is an element of P_4 . Let $P_{k,n}$ be the set of elements of P_k with n bars.

LEMMA 2.2. $\sum_{n=0}^{\infty} |P_{k,n}| x^n = (\sum_{i=1}^k C_{k,i} x^i) / (1-x)^{2k+1}$, where $C_{k,i}$ is the number of permutations in Q_k with i descents.

Proof. For $\pi \in Q_k$, let $d(\pi)$ be the number of descents of π . Observe that every element of $P_{k,n}$ can be obtained uniquely from some permutation

π in Q_k by first putting a bar in each of the $d(\pi)$ descents of π and then putting any number of bars in each of the $2k + 1$ spaces of π . Thus

$$\begin{aligned} \sum_{n=0}^{\infty} |P_{k,n}| x^n &= \left(\sum_{\pi \in Q_k} x^{d(\pi)} \right) (1 + x + x^2 + \dots)^{2k+1} \\ &= \left(\sum_{i=1}^k C_{k,i} x^i \right) / (1 - x)^{2k+1}. \end{aligned}$$

THEOREM 2.3. $|P_{k,n}| = S(n + k, n) = f_k(n)$.

Proof. We exhibit a bijection between $P_{k,n}$ and the set of partitions of $[n + k]$ into n blocks. First note that if π is an element of P_k for $k > 0$ then π can be obtained uniquely from some $\pi' \in P_{k-1}$ by inserting to the left of some bar in π' a pair of k 's separated by some number of bars. For example, $112/3//3/2/$ is obtained from $112//2$ by inserting $3//3$ to the left of the second bar. Let us call a pair of integers separated by some number of bars an *adjunct*. Then by iteration of the above procedure, any element of P_k can be built up in one way from an element of P_0 (which is a sequence of bars) by successively inserting adjuncts.

As we construct a barred permutation π in $P_{k,n}$, we simultaneously label its bars and the left occurrence of each of its numbers with the label set $\{1, 2, \dots, n + k\}$ and construct a partition of this label set into n blocks, according to the following procedure:

The labels are assigned in the natural order: $1, 2, \dots, n + k$. We start with a sequence of bars which we label from left to right. We then insert the adjunct $1// \dots 1$ and label the left 1, then the bars from left to right. We then insert $2// \dots 2$ and label the left 2, then the bars from left to right, and so on.

As we label, we construct a partition of the set of labels. When we label a bar we put the label in a new block, and when we label a number we put the label in the same block as the label of the bar to the left of which it is inserted.

For example, let $\pi = 11/2/344/3/2//$. Then the above construction yields

$\begin{array}{c} // \\ 123 \end{array}$	$\{1\}\{2\}\{3\}$
$\begin{array}{c} 11// \\ 4 \ 123 \end{array}$	$\{1, 4\}\{2\}\{3\}$
$\begin{array}{c} 11/2//2// \\ 4 \ 15 \ 67 \ 23 \end{array}$	$\{1, 4\}\{2, 5\}\{3\}\{6\}\{7\}$
$\begin{array}{c} 11/2/3/3/2// \\ 4 \ 15 \ 68 \ 9 \ 7 \ 23 \end{array}$	$\{1, 4\}\{2, 5\}\{3\}\{6\}\{7, 8\}\{9\}$
$\begin{array}{c} 11/2/344/3/2// \\ 4 \ 15 \ 68 \ 10 \ 9 \ 7 \ 23 \end{array}$	$\{1, 4\}\{2, 5\}\{3\}\{6\}\{7, 8\}\{9, 10\}$

Now suppose we are given a partition of $[n + k]$ into n blocks for which we wish to find the corresponding element of $P_{k,n}$. Let us associate to each block $\{a_1, \dots, a_j\}$ of the partition, where $a_1 < a_2 < \dots < a_j$, the permutation $a_2 a_3 a_4 \dots a_j a_1$, where we underline a_1 . Let the permutations obtained in this manner be $\pi_1, \pi_2, \dots, \pi_n$, in increasing order of underlined number, and let c_i be the underlined number of π_i . Now let $\sigma_1 = \pi_1$, and for $1 \leq i < n$ construct σ_{i+1} by inserting π_{i+1} into σ_i immediately to the right of the leftmost occurrence of $c_i - 1$ in σ_i . Then to obtain the desired element of $P_{k,n}$, in σ_n change all underlined numbers to bars, and renumber the remaining numbers $1, 1, 2, 2, \dots, k, k$, keeping the same order.

For example, if our partition is $\{1, 4\}\{2, 5\}\{3\}\{6\}\{7, 8\}\{9, 10\}$ then the above procedure yields

$\pi_1: 44\underline{1}$	$\sigma_1: 44\underline{1}$
$\pi_2: 55\underline{2}$	$\sigma_2: 44\underline{1}55\underline{2}$
$\pi_3: \underline{3}$	$\sigma_3: 44\underline{1}55\underline{2}3$
$\pi_4: \underline{6}$	$\sigma_4: 44\underline{1}56\underline{5}23$
$\pi_5: 88\underline{7}$	$\sigma_5: 44\underline{1}5688\underline{7}523$
$\pi_6: 10 \ 10 \ \underline{9}$	$\sigma_6: 44\underline{1}568, 10, 10, \underline{9}87523$

Changing underlined numbers to bars gives $44/5/8 \ 10 \ 10/8/5//$ and renumbering gives $11/2/344/3/2//$. We leave it to the reader to show that these correspondences are in fact inverse to each other. This completes the second proof of Theorem 2.1.

If π is a permutation in Q_k then we may define the “nondescents” of π to be those spaces of π which are not descents. If π has i descents, then π has $2k + 1 - i$ nondescents. If we now define \bar{P}_k to be the set of barred permutations on elements of Q_k with at least one bar in each nondescent, and $\bar{P}_{k,n}$ to the set of elements of $P_{k,n}$ with n bars, then by the same reasoning as in Lemma 2.2, we see that

$$\sum_{n=0}^{\infty} |\bar{P}_{k,n}| X^n = \left(\sum_{i=k+1}^{2k} C_{k,2k+1-i} X^i \right) / (1 - X)^{2k+1}.$$

Then one can show that $|\bar{P}_{k,n}| = c(n, n - k) = g_k(n)$ by a correspondence between the elements of $\bar{P}_{k,n}$ and the set of permutations of $[n]$ with $n - k$ cycles, in analogy to Theorem 2.3.

Third proof of Theorem 2.1. We give an alternate proof that $|P_{k,n}| = S(n + k, n)$ by showing that the generating functions for $|P_{k,n}|$ and $S(n + k, n)$ satisfy the same differential equation.

We must first clarify our definition of $P_{k,n}$ for $k = 0$: By definition Q_0 has one element (the “empty permutation”), which has one space and no descents. Thus $|P_{0,n}| = 1$ for all $n \in \mathbb{N}$.

Now let $G(t) = \sum_{k,n=0}^{\infty} |P_{k,n}| x^n (t^k/k!)$.

THEOREM 2.4. $G(t)$ satisfies the differential equation

$$G' = G^2(G - 1), \tag{9}$$

where $G' = dG/dt$, together with the initial condition $G(0) = 1/(1 - x)$.

Proof. Equation (9) is equivalent to the recursion

$$|P_{k+1,n}| = \sum \binom{k}{k_1, k_2, k_3} |P_{k_1,n_1}| \cdot |P_{k_2,n_2}| \cdot |P_{k_3,n_3}|, \tag{10}$$

where the sum is over all 6-tuples $(k_1, k_2, k_3, n_1, n_2, n_3) \in \mathbb{N}^6$ satisfying $k_1 + k_2 + k_3 = k$, $n_1 + n_2 + n_3 = n$, and $n_3 \neq 0$. (We have used the fact that $P_{k_3,0} = 0$ for $k_3 > 0$.) The combinatorial interpretation of (10) is best illustrated by an example. Consider the barred permutation $244/2/13355/1/66/$ in $P_{6,5}$. If we “remove” the 1’s, the barred permutation splits into three parts, $244/2/$, $3355/$, and $/66/$. If we now “reduce” these barred permutations, i.e., renumber each with 1, 1, 2, 2, etc., keeping the same original order, then we get $122/1/$, $1122/$, and $/11/$, elements of $P_{2,2}$, $P_{2,1}$, and $P_{1,2}$. In general, from any $\pi \in P_{k+1,n}$ (with $k \geq 0$) we get by this procedure three barred permutations $\pi_1 \in P_{k_1,n_1}$, $\pi_2 \in P_{k_2,n_2}$, and $\pi_3 \in P_{k_3,n_3}$ with $k_1 + k_2 + k_3 = k$ and $n_1 + n_2 + n_3 = n$. Moreover, $n_3 \neq 0$ since π must end with a bar.

Moreover given three barred permutations $\pi_1 \in P_{k_1,n_1}$, $\pi_2 \in P_{k_2,n_2}$, and $\pi_3 \in P_{k_3,n_3}$, with $n_3 \neq 0$, we can construct elements of $P_{k+1,n}$, where $k = k_1 + k_2 + k_3$ and $n = n_1 + n_2 + n_3$, as follows: Pick pairwise disjoint sets S_1, S_2 , and S_3 such that $S_1 \cup S_2 \cup S_3 = \{2, 3, 4, \dots, k_1 + k_2 + k_3 + 1\}$, $|S_1| = k_1$, $|S_2| = k_2$, and $|S_3| = k_3$. This can be done in $\binom{k_1+k_2+k_3}{k_1, k_2, k_3}$ ways. Then for $i = 1, 2, 3$, renumber π_i with the elements of S_i , keeping the same order. Call the barred permutations so obtained π'_1, π'_2 , and π'_3 . Then the barred permutation $\pi'_1 1 \pi'_2 1 \pi'_3$ is an element of $P_{k+1,n}$, and every element of $P_{k+1,n}$ is obtained uniquely in this manner. This proves (10), and hence (9); moreover, the initial condition $G(0) = 1/(1 - x)$ is equivalent to the statement that $|P_{0,n}| = 1$ for all $n \in \mathbb{N}$.

To solve Eq. (9) we make the substitution $G = (1 - xe^H)^{-1}$, which yields

$$H' = (1 - xe^H)^{-1} = G \tag{11}$$

and the initial condition $H(0) = 0$. Thus, integrating (11) we get

$$H - x(e^H - 1) = t. \tag{12}$$

Equation (12) can be solved by Lagrange’s inversion formula [3, p. 148; 12, Theorem 5.6], which gives

$$H = \sum_{k,n=0}^{\infty} S(n+k-1, n) x^n \frac{t^k}{k!}. \tag{13}$$

Alternatively, we can show that if $H = \sum_{k,n=0}^{\infty} T_{k,n} x^n (t^k/k!)$, then Eq. (12) implies that $T_{k,n}$ is the number of rooted trees with k labeled nodes and n unlabeled nodes such that the labeled nodes are the terminal nodes (or leaves). This number is known to be $S(n+k-1, n)$ [7, Vol. 1, p. 397, Exercise 19, Solution p. 585].

From (13) and (11) we get $G = H' = \sum_{k,n=0}^{\infty} S(n+k, n) x^n (t^k/k!)$, thus $|P_{k,n}| = S(n+k, n)$. This completes the third proof of Theorem 2.1.

Similarly if we set $\bar{G}(t) = \sum_{k,n=0}^{\infty} |\bar{P}_{k,n}| x^n (t^k/k!)$, then one can show that $\bar{G}' = (\bar{G} + 1) \bar{G}^2$, with the initial condition $\bar{G}(0) = x/(1-x)$. This equation has the solution $\bar{G} = \sum_{n=1}^{\infty} \sum_{k=0}^{\infty} g_k(n) x^n (t^k/k!)$.

3. AN OPEN PROBLEM

Can Theorem 2.1 be extended in some way to more general multisets than M_k ? Suppose, for instance, we let $r, k \in \mathbb{P}$ and let M be the multiset consisting of r copies of each integer $i \in [k]$. Define $Q_k^{(r)}$ to be the set of all permutations $a_1 a_2 \cdots a_{rk}$ of M such that if $u < v < w$ and $a_u = a_w$, then $a_v \geq a_u$. Define $B_{k,i}^{(r)}$ to be the number of permutations in $Q_k^{(r)}$ with exactly i descents. Thus $B_{k,i}^{(1)} = A_{k,i}$ and $B_{k,i}^{(2)} = B_{k,i}$. Define

$$F_k^{(r)}(x) = \left(\sum_{i=1}^k B_{k,i}^{(r)} x^i \right) / (1-x)^{rk+1} = \sum_{n=0}^{\infty} f_k^{(r)}(n) x^n.$$

Can any combinatorial significance be attached to $f_k^{(r)}(n)$? For instance, $f_k^{(1)}(n) = n^k$, the number of functions $[k] \rightarrow [n]$; while $f_k^{(2)}(n) = f_k(n) = S(n+k, n)$, the number of partitions of an $(n+k)$ -element set into n blocks. It can be shown, by generalizing the first proof of Theorem 2.1, that $f_k^{(r)}(n)$ satisfies the recursion

$$\Delta^{r-1} f_k^{(r)}(n) = (n+r-1) f_{k-1}^{(r)}(n+r-1),$$

for all $n \in \mathbb{N}$, $k \geq 2$. However, a “nice” combinatorial interpretation of $f_k^{(r)}(n)$ is desired.

It is also easy to see, generalizing Theorem 2.4, that if we define

$$G_r = G_r(t) = \sum_{k=0}^{\infty} F_k^{(r)}(x) t^k/k!$$

(so that $G_2(t) = G(t)$), then $G_r(t)$ satisfies the differential equation

$$G_r' = G_r^r(G_r - 1), \quad G_r(0) = 1/(1 - x).$$

From this it is easy to deduce the following functional equation which generalizes (12):

$$\log \left(1 - \frac{1}{G_r} \right) + \sum_{i=1}^{r-1} \frac{1}{iG_r^i} = t + \log x + \sum_{i=1}^{r-1} \frac{1}{i} (1 - x)^i.$$

Similarly the equation for $\bar{G}(t)$ can be generalized to

$$\bar{G}_r' = \bar{G}_r^r(\bar{G}_r + 1), \quad \bar{G}_r(0) = 1/(1 - x).$$

These considerations do not seem to shed much light on the problem of interpreting $f_k^{(r)}(n)$.

REFERENCES

1. L. CARLITZ, The coefficients in an asymptotic expansion, *Proc. Amer. Math. Soc.* **16** (1965), 248–252.
2. L. CARLITZ, Some numbers related to the Stirling numbers of the first and second kind, *Publ. Univ. Belgrade*, to appear.
3. L. COMTET, “Advanced Combinatorics,” Reidel, Dordrecht/Boston, 1974.
4. D. FOATA AND M.-P. SCHÜTZENBERGER, “Théorie Géométrique des Polynômes Eulériens,” *Lecture Notes in Mathematics*, No. 138, Springer-Verlag, Berlin/Heidelberg/New York, 1970.
5. H. GOULD, *Math. Rev.* **49** (1975), 885–886.
6. C. JORDAN, “Calculus of Finite Differences,” 2nd ed.; reprinted by Chelsea, New York, 1960.
7. D. E. KNUTH, “The Art of Computer Programming,” Vols. 1–3, Addison-Wesley, Reading, Mass., 1968, 1969, 1973.
8. J. RIORDAN, Triangular permutation numbers, *Proc. Amer. Math. Soc.* **2** (1951), 429–432.
9. J. RIORDAN, “An Introduction to Combinatorial Analysis,” Wiley, New York, 1958.
10. J. RIORDAN, The blossoming of Schröder’s fourth problem, *Acta Math.* **137** (1976), 1–16.
11. R. P. STANLEY, “Combinatorial reciprocity theorems, *Advances in Math.* **14** (1974), 194–253.
12. R. P. STANLEY, Generating functions, in “MAA Studies in Combinatorics” (G.-C. Rota, Ed.), to appear.